



KEEP BELIVE IN CHARITY

Engaging more, Enlivening result

ABOUT COMPANY

At KBC 2100, we believe in the power of women to drive change – in Homes, communities, and economies. We are a purpose-driven company focused on Women's empowerment through a unique direct-selling model built around a simple, essential product: sanitary Napkins.

OUR BIG IDEA

Our innovative approach allows women to earn by referring others – not by continuous selling, but with a one-time purchase model that's both healthy and wealth-generating. We're not just selling a product – we're building a movement of financial independence, confidence, and better health for women across India and beyond.



VISION & MISSION

VISION

We envision a world where every woman is financially free, health-conscious, and part of a supportive network that uplifts and celebrates her success — starting with a single step: a simple, healthy product that leads to wealth.

MISSION

To empower one million women by 2030 through sustainable income opportunities and promote better menstrual health by delivering quality sanitary napkins through a revolutionary direct referral system.

BUSINESS OPERATION MANAGEMENT

KBC 2100 operates on a streamlined direct-selling model designed to empower women through a simple, scalable, and sustainable referral system. At the core of our business is the one-time purchase of high-quality sanitary napkins, which customers can refer to others, creating a self-sustaining network of income opportunities. Our operations are guided by transparency, health-first principles, and community-building. From product sourcing to distribution, Rich Horizon ensures quality, efficiency, and timely support, enabling women to manage their own micro-businesses while improving menstrual health awareness and financial independence across communities.



ACTIVATION PACKAGE

2100 ₹

100% DISTRIBUTION

- **DIRECT – 700 ₹**
- **LEVEL – 700 ₹**
- **AUTOPOOL – 700 ₹**

INCOME

- 1. DIRECT INCOME**
- 2. LEVEL INCOME**
- 3. AUTOPOOL INCOME**



DIRECT INCOME

700 ₹



LEVEL INCOME

LEVEL	NO OF PERSON	INCOME	TOTAL INCOME
1	3	200 ₹	600 ₹
2	9	100 ₹	900 ₹
3	27	90 ₹	2430 ₹
4	81	80 ₹	6480 ₹
5	243	60 ₹	14580 ₹
6	729	50 ₹	36450 ₹
7	2187	40 ₹	87480 ₹
8	6561	40 ₹	262440 ₹
9	19683	20 ₹	393660 ₹
10	59049	20 ₹	1180980 ₹
TOTAL		700 ₹	1986000 ₹

AUTOPOOL INCOME

LEVEL	NO OF PERSON	INCOME	TOTAL INCOME
1	3	200 ₹	600 ₹
2	9	100 ₹	900 ₹
3	27	80 ₹	2160 ₹
4	81	70 ₹	5670 ₹
5	243	60 ₹	14580 ₹
6	729	50 ₹	36450 ₹
7	2187	40 ₹	87480 ₹
8	6561	40 ₹	262440 ₹
9	19683	30 ₹	590490 ₹
10	59049	30 ₹	1771470 ₹
		700 ₹	2772240 ₹

TERMS & CONDITIONS

1. Minimum charity withdrawal - 500₹
2. Minimum 3 direct ID compulsory to receive 10 level income.
3. 10% Admin Charge deduction on withdrawal.
4. Payout day every Friday.
5. Daily Closing at 11:59 PM.



CONTACT US



info@kbc2100.com



www.kbc2100.com





KEEP BELIVE IN CHARITY

THANK YOU!